T ERTER (401)

T#4 | R6fEE ARSI - B F)ITE (1) GROFRERR) FHEN Sy 7)1 e fes
THEX5y SRR
THX 5y - AR - R - A5 Bikk HLAZ ¥ (mifal) e (4m) KR e
FIR BT
= 1
)+
= 1
A L
= 1
el TR W, B 7R AT vy b,
DL, PR ME L, Jiti THRE:5, 000m3
ES m3 240
T
= 1
HE A (BEE2) R+ i e B 2. 5mAil
m3 140
B (L) RS 1 T8 B2 2. 5mEA_E4. Om AT
m3 20
LR L
= 1
Rk AR ) BIGHIR L, FREVVE L A
L4 T
m2 320
IR () WEIHRRE D A0, BUGHIK L
m2 400
AT
= 1
- e U




T ERTER (401)

T4 | R6fEL PRI 8- B FIHLE (1) (P HFERX Sy SEIPI S
TS5y o e
THFXSy - TFE - FER - A5 JEA% BT g (FilE) HE (5E) B T 2
D E TE: B CER- ERIRY LET)
1=49. 5kmL T
m3 70
¥ sy
m3 70
PN ==
= 1
(= =y
= 1
PRYE Y +8: tw
m3 30
HEL +&: -
D
m3 20
FEEFEE
m2 60
eav))-h 1L
= 1
sray )y —h 29 )~ S 1 24-8-25 (20) (BIF), JEE
17 Mg : 70cm, /& & :60cm
m 79
FAR T
= 1
S S RAR JEDESH AR, - LOHRY, TR IR < HR
SR X 06, 5m, $RARFTIA R 1 6m, £
FHCEHEIF 4k 1 Om e 88
9 TR0 IR




Eoib SN = IR/
T HER 01
T4 | R6fEL PRI 8- B FIHLE (1) (P FEXS SEIPI S
TEXS e
THFXSy - TFE - FER - A5 ks BT o (il HE (5E) B T 2
EEERE L
= 1
ZHKHER T
= 1
7 nysvy b AL 1:2. 0LL b 113, 07
m2 278
WAL
= 1
EE EREE AV D (BREEAL), e L
B 500m2 AT
m2 143
T T
=; 1
FEEWEIE L T
= 1
/) - M IEY IUE L EIEW X 5y B RS1E ), TIEX 5y
A T
m3 10
VAR VARPYE &N
m2 30
TEHRALEE T
= 1
HOE FRFER 27 )~k (2EF)
L=8. OkmlL T
m3 21
_a - T I




T ERTER (401)

TH4 | RefEL wERE) - EF FITE (1) FEOFHEER) HEX S iy )1 e fis
THEX5y LR
LXKy « LA - FR - A Hiks HL e (iR o (&) R 11 2L
BALSY rigs GIBEVVURIN 3¢ i)
m3 21
G an
= 1
T HER T
= 1
THAERE T Jite T 08 2 2 2. 5mEL b4, OmA
R - = A !
F
= 1
BB HAAHIK 122X 1, 524X 3, 048 (mm) , 1E
DSy RRIE - i
m2 582
BN PR 122X 1, 524X 3, 048 (mm) , 1E
Dy RRIE - i
m2 180
K L
= 1
IR A
= 1
AT LT
= 1
A2 A A B B
AH 40
- B




T

fhZe (AR01)

TH4 | R6fLT R

- ERF AN TE (1) (HOFaEdedl)

HEX Sy
THEXS

il I & fes
RlF - bl A

TSy« TRE - AR - B

sy

ek (40

e

Hi ] - bl A

Al - Bl AR T

2= MEH& 1 18-8-40 (BB), ¢ 600

2y - MEFE 1 18-8-40 (BB)

IR E IR E

133

Bt E Bl

=N

i



1.5

-

=Ry

=Y

RfEZR (AN01)

H

T#4 | R6fEE ARSI - B F)ITE (1) GROFRERR) FHEN Sy 7)1 e fes
THXSy HBPY -l
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e
EREE TV

= 1

HomfErE (FEL)
= 1

ol T
= 1

L5 B
= 1

LUl
= 1

— I A
= 1

T EAfliks
= 1

THEBIRE K O 5 1 e B
= 1

THEF
= 1
-6 - IR




